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Problem Set 4.1
Problem Set 4.1
The Fixed, Variable, and Total Cost of Production
The table below provides production cost data for a firm.
OuTPUT VarirerE COST Figrn COsT Totar Cost
0 e 100
1 100 _
2 1758 et
3 225
4 250 ‘ S —
5 260 .
6 275 R e
7 325 e e
8 400 e nrmm————
9 500 <
10 700 e R
1. Fillin the blanks in Table 4.1 §
850
2. Graph variable cost, fixed cost, and 800
total cost on the graph below. 750
700
650
3. What is the relationship (if any) 600
hetween VC and TC? Why? 550
500
450
400 ‘ :
350 = =
300 =
250
- 200
150 [«
100 -
S0 F
0 ‘ )
0 1 2 3 4 5 6 7 8 9 10 Q
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Chapter 4/Production Costs and Perfect Competition

Daphne’s Apparel Shop 2

Classify the following as Fixed Costs or Variable Costs:

CosTs ¥ixep Cosrs VARIABLE COSTS
v 1. Rent

2, Thread

3. Burttons

4. Wages

5. Electricity

6. Cloth .

7.  Bquipment Rent X

8. Shipping Costs _ _

9. Insurance “

10. Property Taxes

Calculate the following costs for Daphne’s ap?qre} shop.

PRODUCTION FC vC - TC
0 L S
1 6 -
2 9
3 B 13
4 18
5 _ 25
6 ' 34
7 ) 49 P
8 68 e



Problem Set 4.4 HOA

Graph the VC, FC and TC on the graph below.

80
75
70 = -
65 | : e
60 § '
55+

45 |
40
35
30
25
g0 ML :
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